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Chapter 14, Solution 62.

This is a highpass filter.

H(o) = joRC 1
® =14+ joRC ~ 1- jjoRC
1 1
H(m):—l—jwc/w’ ®; = s = 2m(1000)
1 1
H = =
©)=173¢ F ~ 1= j1000/%
H(F = 200 Hz) = = Yo
@  HE=200H) ==y
120mV
b)  H(f =2kHz)= Yo
120 mV
v, |= T ‘_1073mV
H(F =10 kHz) = ——— = Yo
© (F=10kH2)= "1~V
120 mV
v, |=

‘—1194mV
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Chapter 14, Solution 67.

. R, 1
DCgam:R_i:Z —— R, =4R;

Corner frequency = ®, = =21t (500) rad/s

R;C;

If we select R; =20 kQ2, then R, =80 kQ and
1

C = 20(500)(20x10%)

=15.915nF

Therefore, if R, = 20 kQ, then R, = 80 kQ and C =15.915nF

Chapter 14, Solution 69.

This is a highpass filter with f, =2 kHz.

(Dc = 21’EfC = R_C
1 1
R = =
¢ 2nf 4w x10®

C

10® Hz may be regarded as high frequency. Hence the high-frequency gain is

= Rf_ . R
I R_ s || n Rf__ , n = 9 = 7 F
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